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Aufgabe 17 F

- R .
Ac | A, By] G,|G GG, |C,
g; A +G, =0 e: -G, =0
e,: A -q4a-F+B +G, =0 e_y'; -G, -q,2a+C, =0
M, T:—q,4a2a-F2a+B,3a+G,4a=0 M, T:C,2a—q,2aa =0
A =0 Ay =167*10*N By =5,33*10*N Gy :—qoa:—lO4N
[, C, =q,2a=10"N
I y = Q(x)
SR T gy [ N
X A N (x
xXIAy d ( )
. 0<x<2a
e.: NX)+A =0 N(x)=0
e,: Q(X)+A —-g,x=0 Q(X) =gyX —A,

<

X X
S T: sz(x)_l_qOXE_AyX =0 sz(x) :Ayx_qOXE



Aufgabe 17 Fl +

I1 |
U. Q(x)
: 4 ! )sz(x)
A, A, _N(x)
2a<x<3a Xi ’
e.: N(X)+A =0 N(x)=0
e,: QX)+A —-gx-F=0 Q(X) =F +qox— A,
M, T: sz(x)+q0x§+F(x—2a)—Ayx =0 sz(x):Ayx—qoxg—F(x—Za)
I F + 4
- Qlx)
XA, A e |Nk)
3a<x<4a X y : y -
e, N(X)+A =0 | N(x) =0
e,: Qx)+A -gx-F+B =0 Q(x)=F +qx—A, -B,

M, T sz(x)qox§+ F(x-2a)-B, (x—3a)-Ax=0

M,, (X) = A X —qoxg—F(x ~2a)+B, (x -3a)
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Aufgabe 18 a,

Aﬂ‘/‘/l =
V4 =
Ly, ™ L L3
X A .
2‘

23 \B
K %\ \60°
e, . A —-Bcos60°=
e, ! Ay—%q 2a+ Bsin60° =

M T—qol2a22a+BS|n600§a Bcos60°2 =0
2 3 2 2

3
; o Z O,
B(Sasm60 _acosGOj:qo4a _Bx \/4 1 _B-07qa

2 2 3 2 4




Aufgabe 18

1/|/ Q(x)
L ] =>sz(x) dy _ G(x) 0,
—N 0 _ _ Jdo%
xl. (x) o )=
0<x,<2a
e.: N(x)+A =0 N(x,) =-A,
e, Q(x1)+/3y—”'0X =0 Qu)=Tix-A
1% 3 3 1X1
M, T sz(x1)+2 o X AX, =0 My (x)=AX 2 X2




Aufgabe 18

0<x <E
L, % e : —N( )_B 2'_6% 0
e,. —N(X;,)-Bsin60® =
Ty My, (%) e,: —Q(x;)-Bcos60°=0
ax) | N(x) o ]
T | Mg T:-M,,(x,) +Bsin60°= -Bcos60°| =-x, |=0
. 2 2
N(x,) = -Bsin60°
\ Q(x,) =-Bcos60°
B M_(x :BSin6O°E—BCOSGOO(E—X ]
III bz( 2) > 5 2
- 2asx1§5—a
I_y} N(x) . 2
< « e.: —N(x)-Bcos60°=0
X1 i e, : -Q(x,)+Bsin60°=0
My, (x)_ | B _ (5a
7 Q(x) M. T: —sz(x1)+BS|n6O°(?—xl)=O
| N N(x ) =-Bcos60°
1 1

Q(x,) =Bsin60°
. Sa
M,,(X,) =Bsin 600(? - xlj
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Aufgabe 19 F, M. =—-M.e
1

e : B, +Fcosa=0 B, =-70,7N

e,: A -F+B +Fsina=0 A, =37,8N

M, T:—F,0,5a-M, +B a+F,sina(a+b)=0 B, =-58,7N
I +

— Q
Ly, (X;)> My, ()

X IAy [NK)

0<x<0,5a
e.: N(x)=0
y o QX)+A =0 Q(x) =-A,
Mg T: M, (X)-AXx=0 M, (x)=AX

e

e
e



Aufgabe 19 11 E l/“ , =—M,e,
| /ax)
I—y> > > sz(x)

< a, [Nk
X |
. 05a<x<a
e.: N(x)=0
e,: Qx)+A -F=0 Q(x)=-A +F
Mg T:M,, (X) - A X +F(x-0,5a)-M, =0 M, (x)=Ax+M,-F(x-0,5a)

I F, M, =-Me,
+1Q(x)
: ) M4

<

TAy ‘BX IB_ N(x)
X | > Y
- a<x<a+b
e.: N(Xx)+B, =0 N(x) =-B,
e,: QX)+A -F+B, =0 Q(x)=-A, +F -B,
Mg T:M,,(x)- A x +F,(x-0,5a)-B, (x—a)—M, =0
My, (X) = A X+M,; -F(x-0,53)+B, (x—a)
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